PHILOSOPHY
B.A 4™ Semester (Honours) Examination, 2021
Course I1D: 40613 Course Code: AH/PHI1/403/C-10
Course Title: Inductive Logic (Western)

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as for as practicable.
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1. Answer any five of the following questions: 2x5=10
fafiie & e ol7 eitsiw Tex s

a) Write any two features of scientific explanation.
(R G @RI o A8y (=14 1
b) Give an example of inductive generalization.
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¢) What is induction by simple enumeration?
T AT AR IE FICF 012

d) What is primary hypothesis in a scientific investigation?
Gf6 (qeIE SPTHI 2T 45y =0 6 @RR?

e) What is an explanation?
[ FICF ACET?

f) What are the two claims made by Mill about his methods?
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g) What is crucial experiment?
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h) What is the addition theorem of the probability calculus?
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2. Answer any four of the following questions: 5x4=20
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a) Explain a priori theory of probability.
TIRFS! FAE “Fwsha ol I F7 1

b) Give a brief account of Ad hoc Hypothesis
HARAF AFE AXCH ALCFCA Ao F |

c) Discuss briefly Mill’s Method of Residues with the help of an example.
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d) What is refutation by logical analogy? Explain with example.
QST AN I A9 =0 6 @RI? TrrRel TR 1A F 1
e) Distinguish between ‘good analogy’ and ‘bad analogy” with example.
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f) There are two urns, one containing four white balls and two black balls, the other containing nine
white balls and three black balls. What is the probability of getting two white balls if one ball is
drawn from each of the two urns?
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1. Answer any one of the following questions: 10x1=10
e @ @@ @36 240" Ted whe:

a) Explain and examine the criticisms that are generally made against Mill’s Methods.
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b) i) In a club there are 40 members, of whom 14 are ladies. If a committee of 3 is chosen at
random from the club, what is the probability that all of them are ladies?
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ii) What is the probability of getting at least one head in four successive tosses of a fair coin?
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c) Explain with an example Mill’s method of ‘Joint Method of agreement and difference’.
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